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𝑀 𝑛 =
𝑛1𝑀1 + 𝑛2𝑀2 +⋯

𝑛1 + 𝑛2 +⋯
=
Σ𝑛𝑖𝑀𝑖

Σ𝑛𝑖

𝑀 𝑤 =
𝑛1𝑀1

Σ𝑛𝑖𝑀𝑖
⋅ 𝑀1 +

𝑛2𝑀2

Σ𝑛𝑖𝑀𝑖
⋅ 𝑀2 +⋯ =

Σ𝑛𝑖𝑀𝑖
2

Σ𝑛𝑖𝑀𝑖



𝑃𝑟𝑜𝑠𝑗. =
790.017 + 27.745 + 8.638 + 7.182

4
=
833.582

4
= 𝟐𝟎𝟖. 𝟑𝟗𝟓

𝑍𝑎𝑔𝑟𝑒𝑏 =
790.017

833.582
= 0,9477 ∗ 790.017 = 748.728

Đ𝑎𝑘𝑜𝑣𝑜 =
27.745

833.582
∗ 27.745 = 923

𝑃𝑎𝑧𝑖𝑛 =
8.638

833.582
∗ 8.638 = 90

𝑆𝑒𝑛𝑗 =
7.182

833.582
∗ 7.182 = 62
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𝑀 𝑣 =
Σ𝑛𝑖𝑀𝑖

1+𝑎

Σ𝑛𝑖𝑀𝑖

1/𝑎

𝑀 𝑧 =
Σ𝑛𝑖𝑀𝑖

3

Σ𝑛𝑖𝑀𝑖
2
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𝑤𝑖 = 𝑥𝑖 𝐷𝑃𝑛 𝑖/𝐷𝑃𝑛
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𝑣 =  
𝜋𝑟4𝑝𝑡

8𝑙𝜂



h 

h  α

a

h

g 

h

𝜂 =
𝜋𝑟4𝑔ℎ𝜌𝑡

8𝑣𝑙
𝜂0 =

𝜋𝑟4𝑔ℎ𝜌0𝑡0
8𝑣0𝑙

𝜌0 = 𝜌

𝜂𝑟𝑒𝑙 =
𝜂

𝜂0
=

𝜌𝑡

𝜌0𝑡0
=

𝑡

𝑡0
h

𝜂𝑠𝑝 = 
𝑡 − 𝑡0
𝑡0

= 𝜂𝑟𝑒𝑙 − 1 h

𝜂𝑟𝑒𝑑 =
𝜂𝑠𝑝
𝛾

h

h g



𝜈 = 2𝐶1𝑅𝑇
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